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T 797 :

HETITRET 145911 @1 a5 FIae] & qieq ST 371 ] & 91T ST :
(i) 39 597-97 § 34 J97 & | @4 I97 3ifAard & |

(i)  JAF T & 3P 3T TrH7 3157 8 |

(iii) IR Flerea a97 fegar &4 F0eq |

(iv) 8 37Hl & Fl & I 50 & 75 Jsg] H 1o7@ 577 T80 |

(v) 4 3Pl F T F I FTYT 150 91551 § [o7@ T =13 |

(vi) 6 3Pl F T F I FTYT 200 ¥155) § [o7@ T =1eT |

(vii) YeIF F97 @ G 9T & IR TF &I for@ S =T |

o7 &7 1 & 20 T TFlawedd Fo7 (MCQ) &, 15774 T3i% #11 37% 3 | 20x1=20
1. a4 §H Saa98 8 T 5 HUS I Teh Feid GHIel 991 T§ TdT o+ W 80 &

T3 b famior <1 e e oft, aul o Hew # B4 1@ @i g fafva SE
Y TR B W@ A7 | 39T Rrehrd o famer gg 39 fohe SudiAT BRA | S

=1y ?

(a)  Tore sHEH
(b)  TSH HHIH
(c)  USE hHiRH

(d) G TR

2. T @ % Th AW H AN Hai= IR | a9 7ad % 500 HieX 6l aify
# |ft arfurSoes Ifafafel g I9E & sk @ 4 8 a°1 AR fohe
TRl Bl I8 GHITTd i i hal g b w1l 1 910 81 | J8T AedTs

el &1 iH-AT 3R Yfafafreaa & @ 8 ?
(a) @I
(b)  SEfrER
c) fafuss
d) TSHIfaR
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  Marks are indicated against each question.

(iti) Answers should be brief and to the point.

(iv) Answers to questions carrying 3 marks may be from 50 to 75 words.

(v)  Answers to questions carrying 4 marks may be in about 150 words.

(vi) Answers to questions carrying 6 marks may be in about 200 words.

(vii) Attempt all parts of a question together.

Questions 1 to 20 are Multiple Choice Questions (MCQs), carrying 1 mark
each. 20x1=20

1. Sarita bought a flat from Sugan Developers for ¥ 5 crore and was
shocked to discover that the quality of construction was bad, roof leaked
during the rainy season and plaster was coming off at various places.
Which consumer forum should she approach for redressal of her

grievance ?
(a)  District Commission
(b)  State Commission
(c) National Commission
(d)  Supreme Court
2. In a recent ruling, the Supreme Court of India has ordered an immediate
stop on commercial activities in a 500-metre radius of the
Taj Mahal and asked Agra Development Authority to ensure compliance

of its directive. Which dimension of business environment is reflected
here ?

(a)  Social

(b)  Technological
(c) Legal

(d)  Political
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3. ‘Gl diegerw WYYl ¢ § 378,31, HaTC YAl hidl & | HifHe-19 % GRH,
SR YATeR0 H &l @ YHad-l sl GHEING i & [T, 38 394 e
i ol ITIH &I § TN 36 TR fohat foh =R @ &l st aeft =it o
U s S w1 TE T et s T SEE wed § o and H Ay e
AAAT AT | I9YTh | Afeld e % Ha *1 fag 1 :
(a) Tafsmdentor & @ma
(b) U@l T 3TTheH
(c)  ohITHehl I forehTd
(d) R h Tl HT TR

o (el e

4, frafafEa § @ S-G9 SFeg™ & GETie JITeRoT 1 9T 787 2 2
(a) Sl YIS
(b) e worredt qum |ieRdT &
(c) UM 3TMed
(d)  eTaE | HgT i IY(d

o (el e

5. T=faRga # 9 S9-91 Asgsatueed &1 w1 777 8 ?
(a) SATSHIRIS TR0 h1 foveryor qon wd 6 Shifaaar w gae Jurd
(b) 3 yeier gRr sTE T Afert oA fergeror
(¢) Ig ghfeaad & o 3 faum 4 strawgs wifts §
(d) srufera Ievat i ifed 7 9w Tt < @nn w1 tfnfa e

6. 3 A1 Iudh1 wieRvr-fgaet qen wareeades g of @ g aun wrfees | a4
gs 9l SEgeTl HI THR @ § T T EACE T 91 = WE " S| 9l |
o W B, o8 gea™ o} qigds w1 eaa s @i R |
3TYTh | TRINIG SATTTRIeh qITaRul hi TR i qg= il :

(a) T Qrql shi TEIa
(b)  Tafsrse wa drgrRoT wTiwAt

(c)  AAReh-Heg
(d  TTasfier Sepld
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3. ‘Compro Solutions’ offers IT services to clients across the country.
During Covid-19, to accommodate changes taking place in the business
environment, it suitably modified its organisation structure in a way that
work from home became the new way of working for all employees
bringing cost benefits and flexibility in the organisation.
The point of importance of organising discussed above is :

(a)  Benefits of specialisation
(b)  Adaptation to change
(c) Development of personnel

(d)  Clarity in working relationships

4., Which of the following is not a part of social environment of Business ?
(a)  Life expectancy
(b)  Education system and literacy rates
(c) Consumption habits

(d) Money supply in the economy

5. Which of the following is not a function of middle level management ?

(a) Analysing the business environment and its implications for
survival of the firm

(b)  Interpreting the policies framed by top management
(c) Ensuring that their department has necessary personnel

(d) Motivating people in their department to achieve desired objectives

6. These days consumers are making eco-friendly and healthy choices and
are saying no to all things made of plastic and replacing it with stainless
steel and ceramic containers, thus forcing business to change as well.
Identify the feature of business environment highlighted above :

(a)  Totality of external sources
(b)  Specific and general forces
(c) Inter-relatedness

(d) Dynamic nature
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7. 8 FaF, 2016 ! WA WEHR 1 T 500 99T T 1000 % I 1 FHGRT 9

T | fomgdietor &1 319t 7 -
(a) Po fafsre v & fafcs g et 1 faf ar=rar worea g8 8 |

(b) T VG I ok H ST A& fRAT T TehaT o7 W= 3T HAT oh AT S
feter 9= fomam ST Hemar o |

(¢c) 3 IEl <l YA TiSid ek 9 T4 o f4eehl § ST ST Hehal o7 |

(d) ¥ AR H T8 HEI Sk AT TN TRAT ST EhAT A1 W SATIHII hEl
< fore T2t |

8. IR 4 WY TH HIWIR QI o fT¢ g AR Shif=d hl T Hhal | 81 A9
o7 for JEY AT HHIR Bl A G H IREqT HET TET | TS hl HFT 5
ATl 1, Al B 2, HEAR o T1 G HEAT ML | 3ok T EF HIHTRT bl
HIX INEH T AMET qAT HFIHT hl DTG oh (T TRAAT bl STIHT =MET |
ITh | eRIRRTG YY1 g ® -

(a) Toui™ ughd, 7 foh ofiar <& fm
(b) AW, 7 foh sufhaTe
(¢c) &I, 7 fop eht@

N o o

(d) I Hh I IHeh! TIRIUH &Hal T g o foIQ foshr

9. %1 ffirs s fawara s & ¢t = &1 3cures 9o vra & fofie yesn ®
FEh! AT L ITAT Th o981 G4 & | A Uidfed 10,000 fofex <&t =t =1
3T Hd B T 3= 250 fuefiferex, 500 foefiferer qon wes forex mahR &
fesal # U hd & | Ut Jegh Ufdfed oran e giafead s % o
Tk TR o fd g fesai 4 @ ueh fesd it Sfw a1 2 |
3Th 3T § Afdd =0T FfshaT 1 =Rl 2
(a) Tsures et @& el
(b) ARk ISUTET T AT
(c) dTdfaeh fsuTe & AR A ot
@) Tomemt w1 favemo
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7. Government of India demonetised notes of ¥ 500 and ¥ 1000 on
November 8, 2016. Demonetisation means :

(a)  They ceased to be legal tender except for a few specified purposes.

(b) These notes could not be banked but could be freely used
otherwise.

(c) These notes could be converted into gold coins from Reserve Bank
of India.

(d) These notes could be used for household purposes but not for
business purposes.

8. Taylor called for complete mental revolution on the part of both
management and workers. It meant that management and workers
should transform their thinking. Management should share the gains of
the company, if any, with the workers. At the same time, workers should
work hard and be willing to embrace change for the good of the company.
The principle of management highlighted above is :

(a) Science, not the Rule of Thumb
(b)  Cooperation, not Individualism
(c) Harmony, not Discord

(d) Development of Each and Every Person to His or Her Greatest
Efficiency and Prosperity

9. Keya Ltd. is a large organisation manufacturing a popular brand of desi
ghee and supplying it to various states of India. They manufacture
10,000 litres of desi ghee every day and pack in cartons of 250 ml, 500 ml
and 1 litre sizes. The production manager ensures that one out of every
ten cartons of each size is checked for quality control everyday.

The step of the controlling process discussed in the above para is :
(a)  Setting performance standards
(b)  Measurement of actual performance

(c) Comparison of actual performance with standards

(d)  Analysing deviations

66/3/1 ~~~~ Page 7 P.T.O.
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10. i 98 9 BIH Soo® AT Teh ATV TR hI TATTHT HRIHRT JaT Aigerati
I MYHH TS & Y HR W I8+ a1, Fooh STV AT hid o lQ
HI | TS Y TSHARA 7 7 had HERN AT AGATT o TeTT ST
3Ry ST, UG 36 SR § Th Tiaantt sgd off & | Sy SR
AEATaTt § k(YT & T a7 By Saod Y99 oy § & dF s 93
A AT 3ol o H dhel g3 | 3udeh el | weites g gra fsanfea foraom

& HE AT ;
(a)  OehfomT qem Asfert
(b) Tadd (Hae)

(¢c) UTEh HgRh Hamd

(d) 3IUIE Sl TR UF I

11. 98 Jfsham S 9g=H foru Tu qon smfea 3egat <h wiftq o foru swrf-gverest qen
ST o TILTRWT T IHTE & H GHTEHT ST 3TN hleh JASHIST o ThaT-o=H

& I8 Hdl 7, HEA! & :
() TS HEAT

(b) == S
c) Trgfmew
CARERCEISCECTCI

12. <I-Ed0I-faawor Areaw o 98t hy hl ugaH v
(a) 3UEH —> Gal SR — T — UTEh
(b)  3TUTEH — UTEH — Gl AR — Aleh AR
(c) 3TIIGH — Teic —> UTgh —> Gaul AN
(d)  3EH — ATk AR — Gl AT — e

13. I T 5T SR TG & T dIR SR 39cisd i <h
fafirse Sewa & fog 1 7€ |

(a) YR feth3e BrEad grad

(b) T wffy T fafe S

(¢) YR fied 9%
d) ORAT e S
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10. Prateek Singh opened a jewellery store ‘Fashion Jewels’ offering
workwear, light jewellery with modern designs for young working
women. Good jewellery designs not only made the jewellery attractive for
young working women, but also gave him a competitive edge in the
market. The jewellery was a hit with working women and ‘Fashion
Jewels’ was able to report a profit of ¥ 3 crore in the first year itself. The
function of marketing performed by Prateek Singh in the above case was :
(a)  Packaging and labelling
(b)  Promotion

(c) Customer support service

(d)  Product designing and development

11. The process that initiates implementation of plans by clarifying jobs and
working relationships and effectively deploying resources for attainment
of identified and desired results is known as :

(a)  Organising
(b)  Controlling

(c) Staffing
(d) Planning

12. Identify the correct sequence of two-level-channel of distribution :
(a) Manufacturer — Retailer - Agent —» Customer
(b)  Manufacturer - Consumer — Retailer - Wholesaler
(c) Manufacturer — Agent —» Customer — Retailer

(d) Manufacturer - Wholesaler — Retailer - Consumer

13. has been established with the specific objective of providing a

ready market for money market instruments.
(a)  Discount Finance House of India

(b)  Securities and Exchange Board of India
(c) Reserve Bank of India

(d) State Bank of India

66/3/1 ~~~~ Page 9 P.T.O.
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14. Tgd @R fafiee’ & w1, e AU U R 991 H B 7, 1%
ST FTEAT 3 | 3T IIAM & Toh WS | 30 1 Yo ¢ ST | 39 339
o foU 38 -8 SR | M1 916 2
(a)  Hal dNR
(b)  TTHR HAHR

(c) TediFes IR

@) (b) QAT (c) T

15. &y7[: Wcd 99 H ATl & SFagR % T a9 8id & e 9w
gl qYT fagral % MEgR W SR IRfedfadt © g % 9vErq S
STt 8 |

HITII : T4 % TGl I AT Hd T, oAl hl ST gl ohl ST Fehall
Ik STGET hl HHS o Ufd GMHISTR qAT Afdeh IReTRcdl ohl
EERGRCTCIR I

Fr= feu v foereut A @ @&t foehew w1 == HIfST

(a) HAT 1T g qAqT 11 39T 2 |

(b) HAFIIT g dATI 36T g |
(c) aHFl ke G B |
(d) <l %YF I B |

16. THAfIREd ® ¥ SH-A1 YR fayfa @ fafmwa diE 1 & o™ %R g ?
(a)  WfaYd SR s weaeel o1 e
(b) Ifayfd SR § 3TYH (TE) =l Dl aAT SFGER dfgal i Ticdigd
HET

(¢)  THawmes wRer & fiw svew 33T
(d) HYE AT AT AR JAT3T hl U™

66/3/1 ~~~~ Page 10
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14. Rahul wants to buy shares of ‘Rexter Ltd.” which are being traded at the
National Stock Exchange. He feels that the share prices will go up in the
future. Which market should he approach for this purpose ?

(a) Money market
(b)  Primary market

(c) Secondary market

(d) Both (b) and (c)

15. StatementlI: Values are general rules for behaviour of individuals in
society formed on the basis of common practice and

principles after research in work situations.

Statement II : While practising principles of management, values
cannot be neglected as businesses have to fulfil social

and ethical responsibilities towards society.

Choose the correct option from the options given below :
(a)  Statement I is true and II is false.

(b)  Statement II is true and I is false.

(c) Both the statements are true.

(d) Both the statements are false.

16. Which of the following is a development function of Securities and
Exchange Board of India ?
(a) Training of intermediaries of the securities market

(b)  Promotion of fair practices and code of conduct in the securities
market

(c) Undertaking steps for investor protection

(d)  Prohibition of fraudulent and unfair trade practices

66/3/1 ~a~~ Page 11 P.T.O.
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17. Yad< 0¥ o1 98 a9 EE S9a1 hl 990 § T hl S 91 59 IR
3CATGT o TaH qT TV 7q iy SRy Affifad &, @

(a) Ak fasea

(b)  SHEYh
(c) Touom
d) foorg gadw

18. = feu mu fugr ° @witu MU Afehcie o QehioNT T T 3 :

(a) oo Temfom
(b)  WREEH YehiT

(c)  Tesirgw Uehfom
(@)  erfies emfom

19. wfoyfodi *1 s ®9 0 wad I ufkanr favifadiew wEard ®
fafafga & 9 si-a1 e faifadhionor @ gefia 787 8 2

(a) 3TN hT Ueh Uehdd WId o HILIH O TES &0 q7 4R HueH
(b) e Ifayfai i k0T T & foTT &1 a1 FTREt W@ S dehal 8
(c) TR YHTOTYST <hl BT, =Rl AYaT RaTgE! i i Tau &

(@ foaemm @ifas s = soifdes w9 0 qfafda T8 foham S aehat 8
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17. The element of promotion mix which involves a variety of programmes
designed to promote or protect a company’s image and its individual

products in the eyes of the public is :
(a)  Personal selling

(b)  Public relations

(¢c)  Marketing

(d)  Sales promotion

18. The level of packaging of the chocolate shown in the picture below is :

(a)  Secondary packaging

(b)  Transportation packaging
(c) Designer packaging

(d)  Primary packaging

19. The process of holding securities in electronic form is called
dematerialisation. Which of the following statement does not relate to

dematerialisation ?

(a)  Smooth transfer and settlement of trade through a single account
in shares

(b)  Demat securities can be pledged or hypothecated to get loans
(c) No danger of loss, theft or forgery of share certificates

(d)  Existing physical shares cannot be converted into electronic form

66/3/1 ~ N~~~ Page 13 P.T.O.
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20. g™ I1H & 78 fafsr wuwor smeanst o1 e siaw 18 feu w39 gefyd

T B HI -
HIcTH [ HITH T
P. Hohdd STUTE (i) ifowaE
Q. TS semd (i) S9YH JICETEHI T 3T
R. HaM% S14T¢ (i) Tofym 1ot wfga Tohas
S. fwTa sEnd (iv) 9g

(a) P-(), Q—(i), R—(iii), S—(iv)
(b) P—(iv), Q-(ii), R—(1), S—(ii)
(c)  P—(iii), Q—(1), R—(iv), S—(ii)

(d)  P-(ii), Q—(ii), R—(iv), S—(1)

21.  Yellur qon e\ fim 2@ | femg Aiesra o €@ ol A, qff e+
IYETd. Tl URIEX S TR | A A AT WAL, 3.7 T, STaR ¥
$1 | YT & T TH ==l H, JAH 4 el b g8 ff v URer B 9971 U
TEUSE HEOH § 37T e o 1Y IS8 Ja9 o U8 W HEW 7 | T
1 30 A1 W IhIA a1 g3l Tob Tl Toh IR o1 Sk 38 TG AT foh 3TSTohel
YEehlT SATIHTReh ST W SR sgdT 31 &1 8 | Y01 3 3194 fo=m & gqefq
§ ofF o U | 37 i B B T S et gy feu T g 3

66/3/1 ~~~~ Page 14

Get More Learning Materials Here : & W»/ @&\ www.studentbro.in



EEE
En
20. Match the various communication barriers given in Column II with their

respective categories given in Column I :

Column I Column I1
P. Semantic Barriers (i)  Distrust
Q. Psychological Barriers (ii) Lack of proper incentives

R. Organisational Barriers (iii) Symbols with different
meanings

S. Personal Barriers (iv) Status

(a) P-(1), Q-G11), R—(ii1), S—(iv)
(b)  P-(iv), Q-(ii), R—(1), S—(i)
(¢c)  P-(i1d), Q—(1), R-(1v), S-(1)
(d)  P-Gid), Q-(ii), R—-Gv), S-(1)

21. Praveen and Naveen are friends. Praveen became a professional after
completing his MBBS from ‘Hindu Medical College’. Naveen completed
his MBA from IIM, Bangalore. In a discussion with Praveen, Naveen said
that he too is a professional and is working with a multinational company
as a senior manager getting a good package. Praveen was not convinced
about the fact that Naveen was a professional in spite of being aware that
nowadays there is increasing emphasis on managed business concerns.
Praveen gave three reasons in support of his opinion. Explain the three

reasons that Praveen might have given. 3

66/3/1 ~~~~ Page 15 P.T.O.
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22, THa gagd fohet oft Teq i qed wgwyel giEmtaai § | foeet ot giea |
AT e hl AT $8h TTHa FATEHT bl Toraat W el et 3 | ‘T we
g o HEEUs 4 AE.3AE.0H. § Has, foad § fafsear ard, go9 T3 i
fauu Jegeh % ®9 § g TR | WIfeeh HodTehd T 9T T foh 9e T
fTsaTeT oe AEY TE o1 qAT 9§ WIS b HIHH WA bl YT TE M
geh! | T & GBI HRIBR ATYSRE (F.3.37.) 7 AWt 6 I HH & oy
Fg | W33, H g @ 6 yaa v i fonwwar fom A oft weg sweh
fgfh foaue vegeh o &9 § i g | W33, HEIEEH % 919 39 HIEA W
=1 s qAT I Tl ATk i &l 9§ W I® hid Fl Aged TURT | 39 AT
Iz ft gwemn fop 98 7 head I= MSIEA i AR @ S Afug 3= 9gd °
A W Y UM | W33, g HEEY® hl Hal UG W Hal Afh i gRA
% GUIAC U AT o IAfdieh dF 3T oWl &1 3eai@ hivie e 3T

=g ¥ & feam w7 | 3
23. (%) UG TREC FE o HEA % foheal A forgatl i wHeAST | 3
JAAqT
(@) FreE qen fEe ey o & Afawsa Jeat & | ol b faegati
gerar 9 s qen femr & 9y 99y ol gweEE | 3

24, (%) fr=ffgd & mam @ Gelt I’ qon g7 IR | ol T hifvie ;3

@  wfaHrd
(i) oo Tl
Gi) g
AAAT
(@) wRdE gfayid @ ot 9 % el b fafames (e i) sl
1 e HINT | 3
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22. Human resources are the most important asset of an organisation. The
ability of an organisation to achieve its goal depends upon the quality of
its human resources. The General Manager of ‘Allied and Sons’
appointed an IIM graduate, Pawan Rai, specialised in finance as
Marketing Manager. On monthly evaluation, it was found that Pawan
Rai’s performance was not up to expectations and he was not able to meet
the monthly targets of the organisation. The Chief Executive Officer
(CEO) of the company asked for investigation into the matter. The CEO
was told that Pawan Rai has a specialisation in finance but was
appointed as a Marketing Manager. The CEO discussed this matter with
the General Manager and explained to him the importance of putting the
right person at the right job. He further explained that it would not only
lead to higher performance but would also provide many other benefits.
Besides the benefits of putting the right man at the right job, state the
three other benefits which the CEO might have explained to the General
Manager that are not given in the above para. 3

23. (a) Explain any three points of importance of ‘Controlling’ function of

management. 3

OR

(b)  ‘Planning and Controlling are inseparable twins of management.’
Explain the relationship between planning and controlling with

the help of any three points. 3

24, (a) Distinguish between ‘Capital market’ and ‘Money market’ on the

basis of : 3
(1) Participants

(ii)  Investment outlay

(iii)  Safety

OR
(b) State any three regulatory functions of the Securities and
Exchange Board of India. 3
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Get More Learning Materials Here : & m @&\ www.studentbro.in



o [N e

25. (%) TAfafaa & g9m HIfST a1 THEsy 4

(i) I8 T HE-3HE! AR B S TTe] T W HHATET oh HoaTeT
o gUR AT g 991 378 fopelt o7ufera & o folw daR st 2 |

(i) TG Th SATSTGRI-3HE! UfhaT 3 S =Tl Sl YUl fowhE
A ST 3 |

AT

(@) wdf & W fordl & |ral o Twenst S ged § fofie ugh & faw =g
TR 1 JA9 HTId Hd g a1 =74 & o fowgqa faehed 9qM &t

7 | 4

26. (%) <M I YWIfId HA aTeAl 39 TlHAT I TRATNY AT IGeh feohegl i
foemaett &1 e hifse el Ty & el 1 wiftd & faw <
I STHHEAR qAT IcHTEYdeh B A HT TIH Hd ¢ | 4

T
(@) omfaa et 6 wifta & foe nm =6t Rl & fore Sfta s s ufsean
P JEYNUMST T AeMG 8 | W fohegl an sr@aumonsti &l Seod
T | 4

27. NAFH TETESS o Ja€hi i TUTI FAULR] & HRU 95 €l GHEA
AT T ST a8 Afagara qen TedwaH! ST 9=l s TR |

Trerereft Teumgstsl’ B GUYoT YTt bt U o folt 1 T 3UR HeImsu | 4

28. 39 Ui =l gwifad o 911 forgl = Rl 1 ol hIfSTT ST Teh HFI]
eI ARG Al # ¥ fordd sl Sier S g fohd< sl S¥9E™ H W@l IW 9
gafed 7 | 4
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25. (a) Identify and explain the following : 4
(1) It is a job-oriented process which attempts to improve the
performance of employees on the current job and prepares

them for any intended job.

(ii) It is a career-oriented process which enables the overall

growth of the employee.
OR

(b)  Explain any two sources of recruitment for various job positions
which bring new blood in the organisation and provide wider

choice. 4

26. (a) Identify and state any three features of the process of influencing
people so that they strive willingly and enthusiastically towards

the achievement of group goals. 4
OR

(b)  The process of stimulating people to action to accomplish desired
goals is based on certain assumptions. State four such

assumptions. 4

27. Managers in ‘Galaxy Enterprises’ faced lot of issues due to barriers in
communication leading to creation of an environment of distrust and

misunderstanding.

Suggest any four measures to improve communication effectiveness in

‘Galaxy Enterprises’. 4

28. State any four factors affecting the decision which relates to how much of
the profits earned by a company will be distributed and how much will be

retained in the business. 4
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29. AN A FISH o WIS h TACHI ol foxi™d sfiic I § & & | 35
foama 2 fo Toqa Rl AISHT JTUfRTSe qoM Qral JATEl hl H il & | &l
3ueh! Tt w1 gt g fop 38 e1fafeaa qen nifaefier fova ® 390 ybw At AeHTd
TR I HehTl | el G U HYT W IR S[Adl g qAT IHIAC & b Ig

fereiar seifiie <t aterveres 8 |
HIYRON ! Jg= HIL q1 38 HE o UH o farganl &1 oo g
R epT U IUYTh 3T<g § &1 fohdl TR & | 4

30. ‘WA fafee’ dicd yoedt 1 34 A dicdl Tk SO S @ |
SUAIRRIST sl FHEATRT 1 N0 & 3q SHHT T&F 1 IUURRT FdT qAT
S famor &g 8 | w Hfifd & gan udrEe @ gfafsean qen fmeerd
Ted i oh ToTU 38k IUHIRRT HaT Ud Renid Hamur s o1 Hidsd %9 T8
3ok ol oiael W gfgd grar 8 | Al IcUTe AT TaT ITeh! UL o ST
&I 8 1 Ig IUHRRIST ol ITeh YR qYT IUTsd Tl o fowa § frfera s
% foru fafyrm risea oft =@t 3 |

SO 2 Jafdd fohT I ST 9IRS & 1 AR shl HHLATST | 4

31. (&) ‘Shu=ies e’ &1 w1 319 7 ? =T e & foheal a® el &t

N oo
3ei@ hilT | 6

AT

(@) @ & Taurmaas @ &1 19 e | 33 e & fohegl Ir arl o

e

3edi@ hifvy | 6
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29. Kaveri is busy in preparing the financial blueprint for her organisation’s
future operations. She feels that detailed plans of action reduce waste
and duplication of efforts. However, her friend, Sana feels that in an
uncertain and dynamic world, this type of planning may not work. Kaveri
again stresses on her statement and explains why this financial blueprint

is important.

Identify the concept and state three points of its importance in addition

to those explained in the above para. 4

30. ‘MVT Ltd.” is a leading cosmetic manufacturing company. It has its own
consumer service and grievance redressal centre to address consumer
concerns. The mobile phone number of the consumer service and
grievance redressal cell is printed on the labels of all its products as a
policy to get feedback or complaints from their consumers. It also runs
various programmes to educate the consumers about their rights and
reliefs available to them in case a product or service falls short of their

expectations.

Explain the two rights of the consumers which are being promoted by the

company. 4

31. (a) What is meant by ‘Formal Organisation’ ? State any four

advantages of Formal Organisation. 6

OR

(b)  Give the meaning of ‘Divisional Structure’ of an organisation. State

any four advantages of this structure. 6
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32. (F) TG & TWH ¥ fIawwr & TH q gl &1 Wifds @@ adn
HETEA (FgaT) fomue g 61 T Agqul a2 6
() 39 q H T G T 58RI Jeor@ HIT |
(i) 39 I o fehegl <9 T el i IUTET |
aroran

(@) <% TH ®BH H AT (AW) qAT N Hl IUIId A ATl SToheT
AT HeaqUl ad & |’ Toque % < 39 @ 1 AW IS0 a0 st
Ioorg hifvre | fouue Ty & 39 o & [Huior st ywifaq @ 9

fopeal i Rl ol HHSATST | 6

33. TS TR i Tk Sfifiar o o metfeeme™ i fhehe W 1 afwifara w3 &
fAu wdm Hic, SRR 3 T AR fohohe Uvierp ofter T 1 MR I |
Jgci] & Sd%h H HEETed o YU 4 e i for fgael werfoeme™ &+
1Y T THAT A | gHsd # fgenfedt & AgH # uged % wHI 1 o
i we fafed =1 3ooi@ s | TwEia 9o Ml o 9o 9 v W 3fE
TS hl el BN | HE M § g arel fohet Wt yw Wl Uk o e
HEIfoaTad & JaErER 3 I8 =9y oft f for Rgard) ufvteres @ stewr <@ qon
9 had T < Uid & Iuerl ' | Wieeh Sta W fow Raentedt i
yfiifera &0 & e gg feeeh o w=ife g sateiRes 3ush Hui @ or | 3|
3 o TSl o HEY YL FGUTE qYT STUHUH <h! WTEAT i TicdTigd fham | 98
3T AT o1 hT 3k forT Siiaan s on | faaret oft 3cafea o qem ufsremon
QAR | A J T |

IR uitfeafa o afda yag o = fagal & vga Sife qon gmems | 6

34. 31 W€, 2022 H A §C qY H TSNS ATSIECHE B H FA fohI
T 25T@ off | 15 3T, 2022 i §s SIS HI Th 9% H 37T I HA oi3h!
W T 45 ARG d% 9T S T U o= T | 39 3T &l ITed i & fou
TSI TSR0 ol A H T@d gL T foeqd ASH1 §918 T8 | ShedH] o qed
HRHR IRET T Wt Toh IS IR hl ST T hadl JEUehl shl = U 3Tk
ol o &t PR SUft 1fig 3eh! 1l ol 38 A& h1 TIied =g femm & |

ITh AJTeg H AT hHI T dF TR T IS hl TgAH hIT qoqn
HHHATRT | 6
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32. (a) ‘The physical handling and movement of goods from the place of
production to the place of distribution is an important element of
marketing mix.’

(1) Name and state the element.
(ii)  Explain any three main components of this element. 6
OR

(b) ‘It is the single most important element affecting the revenue and
profits of a firm.” Name and state this element of marketing mix.
Explain any three factors affecting the determination of this
element of marketing mix. 6

33. A famous cricket coach, Alam Raza was hired by Sports College, Indore to
coach the college cricket team for a National level competition. In the
first meeting itself, the Principal of the college announced that the
players would enter into an agreement with the college. The agreement
would state the reporting time for players on the field and other rules
and regulations. Failure to obey the agreement and rules would lead to
judicious application of penalties. It was also announced by the College
Principal that the players would receive orders from the coach and they
would all be responsible only to the coach, to prevent confusion regarding
tasks to be done. The coach was very determined to train the players to
win, as the entire responsibility was on his shoulders. He promoted the
spirit of mutual trust and belongingness among the team members
without which he felt it would be difficult to win. The players were also
enthusiastic and the training started in full swing.

Identify and explain the three principles of management discussed in the
above case. 6

34. ‘Diamond Logistics Company’ had a turnover of ¥ 25 lakh during
the year ended 318t March, 2022. In a board meeting held on
15th April, 2022, it was decided to achieve a turnover of ¥ 45 lakh for the
next year. To accomplish this objective after taking into consideration the
business environment, a comprehensive plan was drawn. The Chief
Executive Officer (CEO) of the company also released a plan that would
not only guide the thinking of the managers and their decision-making
but also channelise their energies towards achievement of this target.

Identify and explain the three types of plans discussed in the above para. 6
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Marking Scheme Strictly Confidential (For Internal and Restricted use only)
Senior School Certificate Examination, 2023

SUBJECT NAME BUSINESS STUDIES (66/3/1)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
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once.

11 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior Secondary School Examination, 2023
BUSINESS STUDIES (Subject Code — 054)
[ Paper Code — 66/3/1]

Q. No. EXPECTED ANSWER /VALUE POINTS Marks

1. | Q. Sarita bought a flat from Sugan Developers for 5
crore and was shocked to discover that the quality of
construction was bad, roof leaked during the rainy
season and plaster was coming off at various places.
Which consumer forum should she approach for
redressal of her grievance?

(a) District Commission

(b)State Commission

(c)National Commission

(d)Supreme Court

1 mark

Ans.(b) State Commission

2. | Q. In a recent ruling, the Supreme Court of India has
ordered an immediate stop on commercial activities in
a 500-metre radius of the Taj Mahal and asked Agra
Development Authority to ensure compliance of its
directive. Which dimension of business environment is
reflected here?

(a)Social

(b)Technological

(c)Legal

(d)Political

Ans ( ¢) Legal 1 mark

3. | Q."Compro Solutions' offers IT services to clients
across the country. During Covid-19, to accommodate
changes taking place in the business environment, it
suitably modified its organisation structure in a way
that work from home became the new way of working
for all employees bringing cost benefits and flexibility
in the organisation. The point of importance of
organising discussed above is:

3
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(a) Benefits of specialisation

(b) Adaptation to change

(c) Development of personnel

(d) Clarity in working relationships { mark

Ans. (b) Adaptation to change

4. | Q. Which of the following is not a part of social
environment of Business?

(a) Life expectancy

(b) Education system and literacy rates

( ¢) Consumption habits

(d) Money supply in the economy

Ans (d) Money supply in the economy 1 mark

5. | Q. Which of the following is not a function of middle
level management?
(a) Analysing the business environment and its
implications for survival of the firm.
(b)Interpreting the policies framed by top
management.
(c) Ensuring that their department has necessary
personnel
(d) Motivating people in their department to
achieve desired objectives.
1 mark
Ans (a)Analysing the business environment and its
implications for survival of the firm.

6. Q. These days consumers are making eco-friendly and
healthy choices and are saying no to all things made of
plastic and replacing it with stainless steel and ceramic
containers, thus forcing business to change as well.
Identify the feature of business environment
highlighted above:

(a) Totality of external sources
(b)Specific and general forces
(c) Inter-relatedness

4

Get More Learning Materials Here : & m @) www.studentbro.in



(d)Dynamic nature

Ans (d) Dynamic nature 1 mark

7. | Q. Government of India demonetised notes of X500
and X1000 on November 8, 2016. Demonetisation
means:

(a) They ceased to be legal tender except for a few
specified purposes.

(b) These notes could not be banked but could be
freely used otherwise.

(c) These notes could be converted into gold coins
from Reserve Bank of India.

(d) These notes could be used for household purposes
but not for business purposes.

1 mark

Ans (a) They ceased to be legal tender except for a few

specified purposes.

8. | Q. Taylor called for complete mental revolution on the

part of both management and workers. It meant that

management and workers should transform their

thinking. Management should share the gains of

the company, if any, with the workers. At the same

time, workers should work hard and be willing to

embrace change for the good of the company. The

principle of management highlighted above is:

(a) Science, not the Rule of Thumb

(b) Cooperation, not Individualism

(¢ ) Harmony, not Discord

(d)Development of Each and Every Person to His or
Her Greatest Efficiency and Prosperity

Ans (¢ ) Harmony, not Discord 1 mark

9. | Q. Keya Ltd. is a large organisation manufacturing a
popular brand of desi ghee and supplying it to various
states of India. They manufacture 10,000 litres of desi

5
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ghee every day and pack in cartons of 250 ml, 500 ml
and 1 litre sizes. The production manager ensures that
one out of every ten cartons of each size is checked for
quality control everyday.

The step of the controlling process discussed in the
above para is:

(a) Setting performance standards

(b) Measurement of actual performance

(¢) Comparison of actual performance with standards
(d) Analysing deviations

Ans (b) Measurement of actual performance
1 mark

10. | Q. Prateek Singh opened a jewellery store Fashion
Jewels' offering workwear, light jewellery with
modern designs for young working women. Good
jewellery designs not only made the jewellery
attractive for young working women but also gave him
a competitive edge in the market. The jewellery was a
hit with working women and ‘Fashion Jewels' was
able to report a profit of X3 crore in the first year
itself. The function of marketing performed by
Prateek Singh in the above case was:

(a) Packaging and labelling

(b) Promotion

(¢) Customer support service

(d) Product designing and development

Ans (d) Product designing and development 1 mark

11. | Q. The process that initiates implementation of plans
by clarifying jobs and working relationships and
effectively deploying resources for attainment of
identified and desired results is known as:

(a) Organising

(b) Controlling

(c) Staffing

(d) Planning

6
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Ans (a) Organising 1 mark

12. | Q. Identify the correct sequence of two-level-channel
of distribution:
(a) Manufacturer — Retailer — Agent —Customer
(b) Manufacturer —Consumer —Retailer—
Wholesaler
(c) Manufacturer — Agent — Customer —
Retailer
(d)Manufacturer — Wholesaler —Retailer—
Consumer

Ans (d)Manufacturer — Wholesaler —Retailer—
Consumer 1 mark

13. | Q. has been established with the
specific objective of providing a ready market for
money market instruments.

(a) Discount Finance House of India

(b)Securities and Exchange Board of India

(c) Reserve Bank of India

(d)State Bank of India
1 mark
Ans (a) Discount Finance House of India
14. | Q. Rahul wants to buy shares of ‘Rexter Ltd.” which
are being traded at the National Stock Exchange. He
feels that the share prices will go up in the future.
Which market should he approach for this purpose?
(a) Money market
(b)Primary market
(¢) Secondary market
(d)Both (b) and (¢)
1 mark

Ans ( ¢) Secondary market

15. | Q. Statement I. Values are general rules for behaviour
of individuals in society formed on the basis of
common practise and principles after research in
work situations.

7
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Statement II: While practising principles of
management, values cannot be neglected as businesses
have to fulfil social and ethical responsibilities towards
society.
Choose the correct option from the options given
below:
(a) Statement I is true and II is false.
(b)Statement II is true and I is false.
(c) Both the statements are true.
(d)Both the statements are false.
Ans ( ¢) Both the statements are true. 1 mark
16. | Q. Which of the following is a development function of
Securities and Exchange Board of India?
(a) Training of intermediaries of the securities
market
(b)Promotion of fair practices and code of conduct
in the securities market
(¢) Undertaking steps for investor protection
(d)Prohibition of fraudulent and unfair trade
practices
Ans (a)Training of intermediaries of the securities market 1 mark
17. | Q. The element of promotion mix which involves a
variety of programmes designed to promote or protect
a company's image and its individual products in the
eye of the public is:
(a) Personal selling
(b) Public relations
( c)Marketing
( d)Sales promotion
) ] 1 mark
Ans (b) Public relations

8
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18.

The level of packaging of the chocolate shown in the
picture below is:

(a) Secondary packaging

(b) Transportation packaging

(c) Designer packaging

(d) Primary packaging

Ans (d) Primary packaging 1 mark

19. | Q. The process of holding securities in electronic form
is called dematerialisation. Which of the following
statement does not relate to dematerialisation?

(a) Smooth transfer and settlement of trade through a
single account in shares

(b) Demat securities can be pledged or hypothecated
to get loans

( ¢) No danger of loss, theft or forgery of share
certificates

(d) Existing physical shares cannot be converted into
electronic form

Ans (d) Existing physical shares cannot be converted into 1 mark
electronic form

20. | Q. Match the various communication barriers given in
Column II with their respective categories given in

Column I:

Column I Column I1

P. Semantic Barriers (i) Distrust

Q. Psychological Barriers (ii) Lack of proper

incentives
R. Organisational Barriers (iii) Symbols with

9
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different meanings
S. Personal Barriers (iv) Status

(2) P-(i), Q-(ii), R-(iii), S-(iv)
(b)P-(iv), Q-(iii), R-(i), S-(ii)
(¢) P-(iii), Q-(i), R-(iv), S-(ii)
(d) P-(iii), Q-(ii), R-(iv), S-(i)

Ans (c) P-(i11), Q-(1), R-(1v), S-(11) 1 mark

21. | Q. Praveen and Naveen are friends. Praveen became a
professional after completing his MBBS from ‘Hindu
Medical College'. Naveen completed his MBA from
IIM, Bangalore. In a discussion with Praveen, Naveen
said that he too is a professional and is working with a
multinational company as a senior manager getting a
good package. Praveen was not convinced about the
fact that Naveen was a professional in spite of being
aware that nowadays there is increasing emphasis on
managed business concerns. Praveen gave three
reasons in support of his opinion. Explain the three
reasons that Praveen might have given.

Ans. Reasons that Praveen might have given (Any three):

Restricted entry — There is no restriction on anyone 1 mark for
being appointed as manager in any business each reason
enterprise, irrespective of the educational
qualifications possessed as compared to other
professions like a doctor, a lawyer, etc

Professional Association — There are several
associations of practicing managers in India, like the
AIMA (All India Management Association),
however, there is no compulsion for managers to be
members of such an association nor does it have any =3 marks
statutory backing unlike other professions.

=1x3

Ethical code of conduct: All professionals are bound by
a code of conduct which guides the behaviour of its

10

Get More Learning Materials Here : & m @) www.studentbro.in



members, which may not be followed by manager
though AIMA has laid down a code of conduct to
regulate the activities of their members.

Service motive— The basic purpose of management is to
serve their clients interests by rendering dedicated
and committed service whereas the basic purpose of
management is to help the business organisation to
achieve its stated goal which is profit maximisation.

(If an examinee has only listed the points, 2 mark for
each point should be awarded.)

22. | Q. Human resources are the most important asset of
an organisation. The ability of an organisation to
achieve its goal depends upon the quality of its human
resources. The General Manager of 'Allied and Sons’
appointed an IIM graduate, Pawan Rai, specialised in
finance as Marketing Manager. On monthly
evaluation, it was found that Pawan Rai’s
performance was not up to expectations and he was
not able to meet the monthly targets of the
organisation. The Chief Executive Officer (CEO) of
the company asked for investigation into the matter.
The CEO was told that Pawan Rai has specialisation
in finance but was appointed as a Marketing
Manager. The CEO discussed this matter with the
General Manager and explained to him the
importance of putting the right person at the right job.
He further explained that it would not only lead to
higher performance but would also provide many
other benefits. Besides the benefits of putting the right
man at the right job, state the three other benefits
which the CEO might have explained to the General
Manager that are not given in the above para.

1 mark for

Ans Benefits of Staffing (any three): each benefit

(1) It helps in discovering and obtaining competent
personnel for various jobs.

=1x3

11

Get More Learning Materials Here : & m @) www.studentbro.in



(11) It ensures continuous survival and growth of the | =3 marks
enterprise through the succession planning for
managers.

(i11) It helps to ensure optimum utilisation of human
resources by avoiding overmanning and under-
utilisation of personnel.

(iv) It improves job satisfaction and morale of
employees through objective assessment and
fair reward of their contribution.

(If an examinee has only listed the points, /> mark for
each point should be awarded.)

23. | Q.(a) Explain any three points of importance of
'Controlling’ function of management.

2 mark for
Ans. Importance of Controlling (any three): nhaming
+
(1) Accomplishing organisational goals 14, mark for its
(i1) Judging accuracy of standards explanation
(ii1) Making efficient use of resources ~1x3
(1v) Improving employee motivation
C . = 3 marks
(V) Ensures order and discipline
(vi) Facilitating coordination in action OR
OR

(b) ‘Planning and Controlling are inseparable twins of
management.” Explain the relationship between
planning and controlling with the help of any three
points.

Ans Relationship between planning and controlling (Any
three with explanation):

(1) Controlling takes place on the basis of standards

12
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developed by planning.
(i1) Planning without controlling is meaningless as —1x3
controlling ensures that the events conform to plans.
(i11)Planning prescribes an appropriate course of action = 3 marks
for achieving objectives whereas controlling
evaluates whether decisions have been translated into
desired actions or not.
(iv)  Planning and controlling are both forward-
looking as well as looking back.
24. | (@) Q. Distinguish between 'Capital market' and
Money market’ on the basis of:
(i) Participants
(ii) Investment outlay
(iii) Safety
Ans Distinction between 'Capital market' and ‘Money
market’:
Basis Capital market Money market
Participants | The participants in = 1x3
capital market are g:riilg}ggﬁé r;lraerket
if;llr;?irtl:;l;éns banks institutions like =3 marks
corporate e;ltities | RBL b.an1.<s, o
. > | financial institutions
foreign 1.nvestors and finance
?md retail companies.
mvestors.
Investment | Investment in | Money market
outlay capital market | transactions entail
does not require | huge sums of money
huge financial | as the instruments
outlays as value of | are quite expensive.
securities 1s low.
Safety Capital market Money market is
instruments are much safer due to
riskier, both with | shorter duration of

Get More Learning Materials Here: &

13

@ www.studentbro.in




respect to returns | investing and
and principal financial soundness
repayment. of the issuers.

OR
OR

(b)State any three regulatory functions of the
Securities and Exchange Board of India.

Ans Regulatory functions of SEBI (any three):

(1)Registration of brokers and sub-brokers and other
players in the market.

(i1)Registration of collective investment schemes and
mutual funds.

(111) Regulation of stock brokers, portfolio exchanges,
underwriters, etc. = 1x3

(iv)Regulation of takeover bids by companies.

=3 marks
(v)Calling for information by undertaking inspection,

conducting enquiries and audits of the stock
exchanges and intermediaries.

(vi)Levying fees or other charges for purposes of this
act.

(vii) Performing and exercising such power under
Securities Contracts (Regulation) Act 1956, as may
be delegated by the Government of India.

25. | Q. Identify and explain the following:

(i) It is a job-oriented process which attempts to
improve the performance of employees on the
current job and prepares them for any intended
job.

(ii) It is a career-oriented process which enables the
overall growth of the employee.

. o 1 mark for
Ans (1)Training identification
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Training 1s any process by which the aptitudes, skills and

+ 1 mark for

abilities of employees to perform specific jobs are | explanation
increased.
=2x2
(i1) Development
Development refers to the learning opportunities that 4 k.
enable growth of the employee personality and helps| mariks
individuals in realising their potential capacities.
OR OR
(b) Explain any two sources of recruitment for various
job positions which bring new blood in the
organisation and provide wider choice.
Ans External sources of recruitment (any two):
(1) Direct recruitment 14, mark for
(i1)Casual callers naming
(i11)Advertisement +
(iv)Employment Exchange 1 2 mark for
(v)Placement agencies and Management consultants explanation
(vi)Campus recruitment
ii)R dation of empl e

(Vll) ecommendation of employees. — 4 marks
(viii) Labour contractors
(ix)Advertisement on television
(x)Web publishing

26. | Q.(a) ldentify and state any three features of the
process of influencing people so that they strive
willingly and enthusiastically towards the achievement
of group goals.

1 mark for
Ans Leadershi identification
ns Leadership N
Features of Leadership (any three): 1 mark for
(i)Leadership indicates ability of an individual to| €ach feature
influence others. =1+3

(11) Leadership tries to bring change in the behaviour of | =4 marks
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others.
(i11)Leadership indicates interpersonal relations between
leaders and followers.
(iv) Leadership is exercised to achieve common goals of
the organisation.
(iv) Leadership is a continuous process.
(If an examinee has only listed the points, /> mark for OR
each point should be awarded.)

OR

(b) The process of stimulating people to action to
accomplish desired goals is based on certain
assumptions. State four such assumptions.

1 mark for
Ans Assumptions: each
assumption
(i) People’s behaviour is based on their needs.
Satisfaction of such needs influences their behaviour. -1 x4
(i) People’s needs are in hierarchical order, starting
=4 marks

from basic needs to other higher level needs.

(iii) A satisfied need can no longer motivate a person;
only next higher level need can motivate him.

(iv) A person moves to the next higher level of the
hierarchy only when the lower need is satisfied.

27. | Q. Managers in 'Galaxy Enterprises' faced lot of
issues due to barriers in communication leading to
creation of an environment of distrust and
misunderstanding.

Suggest any four measures to improve communication
effectiveness in Galaxy Enterprises'.

Ans Measures to improve communication effectiveness

(any four):

(1)  Clarify the ideas before communication.

16
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(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

Communicate according to the needs of
receiver.

Consult others before communicating.

Be aware of languages, tone and content of
message.

Convey things of help and value to listeners.

Ensure proper feedback to make
communication process more responsive.

Communicate for present as well as future.
Follow up communication.

Be a good listener.

1 mark for
each measure

=1x4

=4 marks

28.

Q. State any four factors affecting the decision which
relates to how the profits earned by a company will be
distributed and how much will be retained in the
business.

Ans Factors affecting the decision (any four):

(i) Amount of Earnings are a major determinant of the

decision about dividend as dividends are paid out of | | mark for

current and past earnings.

(i) Stability of Earnings is another factor affecting

dividend decision as a company having stable
earnings is in a position to declare higher dividends.

(i) Companies generally prefer to maintain stability of

dividends while taking dividend decision.

(iv) If a company has good growth opportunities, it pays

out less dividend.

(v A good cash flow position

declaration of dividend.

1s necessary for

each factor

=1x4
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(vi) Shareholders Preference is kept in mind by the | —4 marks
management before declaring dividends.

(viij Taxation Policy affects the dividend decision as a
higher dividend distribution tax will lead to lesser
dividend payout.

(vii) The possible stock market reaction to dividend
policy on the share price is one of the important
factors affecting dividend decision.

(ix) While taking dividend decision, companies take into
consideration their access to capital market.

(x) Certain provisions of the Companies Act, i.e. legal
constraints place restrictions on pay-outs as
dividend.

(xiy While taking dividend decision, companies keep into
mind the restrictions imposed by the lenders i.e.,
contractual constraints.

(If an examinee has only listed the points, /2 mark for
each point should be awarded.)

29. | Q. Kaveri is busy in preparing the financial blueprint
for her organisation's future operations. She feels that
detailed plans of action reduce waste and duplication
of efforts. However, her friend, Sana feels that in an

uncertain and dynamic world, this type of planning
may not work. Kaveri again stresses on her statement
and explains why this financial blueprint is important.

Identify the concept and state three points of its
importance in addition to those explained in the above
para.

Ans. Financial Planning 1 mark for
identification

18
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Importance of Financial Planning ( any three):

(1) It helps in forecasting what may happen in
future under different situations and face the
eventual situation in a better way.

(i1) It helps in avoiding business shocks and
surprises and helps the company in preparing
for the future.

(i11) It helps in co-ordinating various business
functions, like sales and production functions,
by providing clear policies and procedures.

(iv) It tries to link the present with the future.

(v) It provides a link between investment and
financing decisions on a continuous basis.

(vi) It makes the evaluation of actual performance
easier.
(If an examinee has only listed the points, /> mark for
each point should be awarded.)

+

1 mark for
each
statement

=143

= 4 marks

30.

Q. ‘MVT Ltd.’ is a leading cosmetic manufacturing
company. It has its own consumer service and
grievance redressal centre to address consumer
concerns. The mobile phone number of the consumer
service and grievance redressal cell is printed on the
labels of all its products as a policy to get feedback or
complaints from their consumers. It also runs various
programmes to educate the consumers about their
rights and reliefs available to them in case a product
or service falls short of their expectations.

Explain the two rights of the consumers which are
being promoted by the company.

Ans Consumer Rights being promoted by the company:

(1)  Right to be heard

(1)  Right to consumer education

1 mark for
1dentification

+

1 mark for its
explanation

=2x 2

= 4 marks
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31. | Q.(a) What is meant by 'Formal Organisation? State
any four advantages of Formal Organisation.

Ans Formal organisation refers to the organisation
structure which is designed by the management to
accomplish a particular task and clearly specifies the
boundaries of authority and responsibilities.

(or any other suitable meaning) +

2 marks for
the meaning

Advantages of Formal Organisation (any four):

(a) Itis easier to fix responsibility since mutual I mark for
: : each
relationships are clearly defined.
advantage
(b) It avoids duplication of effort since there is no
ambiguity in the role that each member has to play. =2+4
(c) It maintains unity of command through an
established chain of command. = 6 marks
(c) It leads to accomplishment of goals by providing a
framework for the operations to be performed.
(d) It provides stability to the organisation because
there are specific rules to guide behaviour of
employees.
(If an examinee has only listed the points, /2 mark for
each point should be awarded.)
OR
OR
Q.(b) Give the meaning of ‘Divisional Structure' of an
organisation. State any four advantages of this
structure.
2 marks for

o . . the meaning
Ans. Divisional structure is an organisation structure

which comprises of separate business units or divisions
when the organisation has more than one category of
products to offer.

(or any other suitable meaning)

+
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Advantages of Divisional Structure: 1 mark for
(1)  Product specialisation helps in the development each
of varied skills in a divisional head and prepares advantage
him for higher positions.
g : : e =2+4
(1i1) It helps in fixation of responsibility in case of
poor performance of the division.
= 6 marks
(i11) It promotes flexibility and initiative leading to
faster decision making.
(iv) It facilitates expansion and growth as new
divisions can be added without interrupting the
existing operations.
(If an examinee has only listed the points, /2 mark for
each point should be awarded.)
32. | ‘The physical handling and movement of goods from
the place of production to the place of distribution is
an important element of marketing mix.’
. 1 mark for
(1) Name and state the element. :
. . . . naming +
(i) Explain any three main components of this 1
element. > mark for
statement
Ans (1) Place /Physical Distribution +
Place includes all the activities that make firm’s products | 2 mark for
available to the target customers. naming the
component +
(i1))Components of Physical Distribution (any three): 1 mark for
(1)  Order Processing explanation
(11)  Transportation =1%+4%
(i11) Warehousing — 6 marks
(iv) Inventory Control
OR OR
Q. It is the single most important element affecting the
revenue and profits of a firm.' Name and state this 1 mark for
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element of marketing mix. Explain any three factors naming +

affecting the determination of this element of 145 mark for
marketing mix. statement
Ans Price +
Pricc? 1s the amount of money customers have to pay to 14, mark for
obtain the product. naming the
component

Factors affecting the determination of Price (any three):
(1)  Product cost
(i)  Utility and Demand I mark for
(iii) Extent of competition in the market explanation
(iv) Government and legal regulations
(v)  Pricing objectives. =1%+4Y
(vi) Marketing methods used

+

= 6 marks

33. | Q. A famous cricket coach, Alam Raza was hired by
Sports College, Indore to coach the college cricket
team for a National level competition. In the first
meeting itself, the Principal of the college announced
that the players would enter into an agreement with
the college. The agreement would state the reporting
time for players on the field and other rules and
regulations. Failure to obey the agreement and rules
would lead to judicious application of penalties. It was
also announced by the College Principal that the
players would receive orders from the coach and they
would all be responsible only to the coach, to prevent
confusion regarding tasks to be done. The coach was
very determined to train the players to win, as the
entire responsibility was on his shoulders. He
promoted the spirit of mutual trust and belongingness
among the team members without which he felt it
would be difficult to win. The players were also
enthusiastic and the training started in full swing.

15 mark for
1dentification

+

1 Y2 mark for

Identify and explain the three principles of its )
. . explanation
management discussed in the above case.
Ans Principles of Management
=2x3

(i) Discipline
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(ii) Unity of Command
(iii) Esprit de Corps = 6 marks

34. | Q. ‘Diamond Logistics Company' had a turnover of
%25 lakh during the year ended 31% March, 2022. In a
board meeting held on 15™ April, 2022, it was decided
to achieve a turnover off X45 lakh for the next year.
To accomplish this objective after taking into
consideration the business environment, a
comprehensive plan was drawn. The Chief

Executive Officer (CEO) of the company also released 14, mark for

a plan that would not only guide the thinking of the identification
managers and their decision-making but also n
channelise their energies towards achievement of this

1 Y2 mark for

1ts
Identify and explain the three types of plans discussed | explanation

in the above para.

target.

Ans Types of Plans:
(i) Objective
(i)  Strategy
(iii) Policy

=2x3

= 6 marks
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